N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

=
o

true tracks
=
o
2
T
fake tracks
duplicate tracks

10

s

[N
(=)
A B

1 ; 1
L ICMSSW S 7 X 2073050
DQM_TT__mKkFit-DOM_newfast132
|2

X
o
s

T T BITT: ] =

: IR

095=20-15-10-5 0 5 10 15 20 25 "=25-20-15-10-5 0 5 10 15 20 25 0995501 5 10 15 20 2 =25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)

-

0.

ol

N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |

tracks

=
Q
=
[N
o

10

true tracks
fake tracks
duplicate tracks

10

=
o
@

10?

[N
(=)
Ty

Ratio

10 20 30 =30 -20 20 30 °¥[e—=20 -10 0 10 20 30 =30 -20 -10 O 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


